Contents of 71 bytes telemetry data

0. 1Hz data - #2

Part Frame Header Telemotry Packet (Header)
Word
bit 76
Value 1i1 w1 k| %
Data ID1 Data D2 2 Packet Sequence Telemetry Packet
explanation (Spare) 007 Frame Sequence Counter (Spare) w Souar Length
(0.1Hz.2) (OBC-AGS-DH) & (67bytes : fixed value)
Part Telemetry Packet (Data)
Word
bit 110 71615:4137211:0 77615:4137211:0|776{5:47372{1:0|7:6:5:4i3:2%1%
Value H H H H H H H H H H H H H H H H H
14001 14001 14101 14101 14201 14201 15001 15001 D 16004 0 16014 R 16024 30111 30111
explanation |  GYRO X GYRO X GYRO Y GYRO Y GYRO Z Temperature GYRO Z Temperature GAS Temperature GAS Temperature |\ ooy o ature|  MTQXSecondary {00 o S re|  MTQY Secondary [\ PR e MTQ Z Secondary SAS#1 Temperature SAS#1 Temperature
(MsB) (LsB) (MsB) (LS r Teme Temperature r Teme Temperature r Teme Temperature
Part Telemetry Packet (Data)
Word 34
bit 10 7i6i5:473:2F 1
Value 0i0 0:0i0:0:0i0i0
&8 12202 12202 BiBiBigisigis
lanati SAS#2 o SAS#2 o SASH#3 o SASH#3 s 30114 30115 30116 TRBDD S$TX STX 30401 30402 30403 30404
explanation RW X Temperature RW Y Temperature RW Z Temperature Temperature Temperature Thermal Seneor Data 1 Thermal Seneor Data 2 Thermal Seneor Data 3 Thermal Seneor Data 4
(MsB) (LsB) (MsB) (LSt Temperature
(MsB) (LsB)
Part Telemetry Packet (Data)
Word
bit 3i2 7i6i5:4 4732
Value H H H H
anat 30405 30406 30407 30408 30409 30410 30411 30412 30413 30414 30415 30416 20312 20313 20314 25‘13'?':
XPlanation | Thermal Seneor Data 5 Thermal Seneor Data 6 Thermal Seneor Data 7 Thermal Seneor Data 8 Thermal Seneor Data 9 Thermal Seneor Data 10 | Thermal Seneor Data 11| Thermal Seneor Data 12 |  Thermal Seneor Data 13 [ Thermal Seneor Data 14 | Thermal Seneor Data 15 | Thermal Seneor Data 16 0BG Current S-TX Current S-RX Current (omergenoy) Gurrent
Part Telemetry Packet (Data)
Word 70
bit 1i0|7i6i5i4i3i2t1i0 1i0|7i6i5i4i3i2t1i0
Value H H H H H [ 0:0
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e o s s e o s GYRO Current GPSR Current STS Current RW X(+5V) Current RW X(+28V) Current RW Y(+5V) Current RW Y(+28V) Current BBS Message Num k]
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